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Some notation

Split the Frobenius norm into two pieces
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Proof Let apg be the off diagonal elementof A with

the largest absolute value

Let B R 141T A R y a singleJacobi Rotation

tilt it
and don't forget bpg bgp 0 construction
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So this means that DCB DIA LIA
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But the same argument work for A and B the original nxn matris
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Continuing Sini apg was the largest off diagonal element

of A we have that L A In n 1 apg
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Re label the matron
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After k steps L A I 4th L A
So theatre L A s 0 as k o

And since 5 Am DIA LIA

trace A

at Dla LIAM at D a true A 0

What grantees that figDIA true A

implies that A s t
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Idc Apply Gerschgorin'sTheorm

A and A have the same eigenvalues and L A O

Thenfor the Gerschgorin disks of Al have radii going to 0

as well Thenfoe the eigenvalues of AM and therefore

A are the limit of the diagonal of Al

what about the rate of convergence
We showed that LIA e 1 Em L A

if n 1000 I n 99999799799

A if he 100 l Ent 999799

k 10000 v 98

Real life convergence is often much faster than indicated
in the proof






